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Economics

Paper II

LI

EECIECAN |

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

Who among the following advocated
and active fiscal policy to reduce
unemployment ?

(A) The classical

(B) The Keynesian

(C) Both classical and Keynesian
(D) Monetarist

Theory of Money Supply makes
money supply a function of ........... .

(z) High-powered Money (H)
(z1) Currency in Circulation
(zi1) Credit Money

(tv) Currency Deposit Ratio (c)
(v) Time Deposit Ratio (t)

(vi) Reserve Deposit Ratio (r)
(A) @), (i) and (ii7)

(B) @), Gii), (Gv) and (vi)

C) @), Gv) (v)

D) (), (Gv), (v) and (vi)

TATATHT HITH SUITA FH
FHLOATEC] Gfehd USTehIoE &L=l

qEHR whell ?

(A) FIETER]

(B) HTamR!

(C) T TAER! & HIaR]
(D) e

S g H s e
% ................ aweﬂ'{:"a"

() == e U (H)
(i) =EEdrE T

(i7) O

(iv) =& 39 TUIRR (c)
(v) H&d & IR (t)

(vi) TEE 3d O (1)
(A) @), Gi) A0 (id7)

B) @), (D), ) 2 (vi)
(C) @, Gv) (v)

D) @), Gv), (v) 0 (V1)

[P.T.O.



According to Okun’s law, 1 extra
point of unemployment costs .........
percent of GDP.

(A) 2%

(B) 6%

©) 1%

D) 3%

Match the following :

(@) Increase in Bank Rate

(b) Purchase
Securities by the Central Bank

(¢) Reduction in CRR
(d) SLR

of Government

(z) Can be used as a qualitative

measure
(iz) Increases the cost of credit
(Z11) Induces more credit creation

(tv) Increases the availability of

money supply with the

commercial banks
(@ B © (@
A @) @ @ @)
B) @ @) GG G
(C) @@ Gv) Gi) @
D) @) @) Gv) @

3.
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st M or® wiawfed =l =6, 0%
srfafier SsTEn fog a1 T

SId 3cded (GDP) &< &l
(A) 2 =%k
(B) 6 <%
(C) 1 =%k
(D) 3 <TFh

T el Seedl
(@) ¥ A TME
(b) HeFEd! dehg ThHRI U= BEl

() U@ TEE UK HI

(d) Sunfass TwEar yHT

(@) TOMHE SUE WA STIAl Adl

(i) o fRAdE 9@

(i) @iferek gafAfEt 2R

(iv) AR dehiheid URM= ST
e
(@ @) © @

A) ) @O @ D)

B) @ @) @) i)

©) @) Gv) @) @)

D) @i @) @) @)




Principles of Supply-side Economics

focus on .....coecvveeennns .

(A) Shifting AS curve to the right
(B) Shifting AD curve to the right
(C) Shifting AS curve to the left
(D) Shifting AD curve to the left

The Baumol’s theory of transaction
demand for money is definitely an
improvement over the Keynesian

theory which states that ...........

(A) The transaction demand for

money is interest elastic

(B) The transaction of demand for

money is interest inelastic

(C) The transaction of demand for

money is income inelastic

(D) The transaction of demand for
money is income and interest

elastic

APR - 11224/11—B
QLA A=Al AU

...................

JE T <.

o~

(A) AS T ISHIRe HIHTIO

(B) AD =% ISelehe HLhiau]
(C) AS = STlehe HIhHIIUl
(D) AD 95k STelehe TLehidul
ATSATCTET URTET SRR vqel AUl
fagia &1 FHiyeme s fagaedd
YR 378 S sh-o= fagia o ufaafed

(A) YT SRR Fq@EET TR €
=S daash 3T

(B) Tmm= =R gq@eEl AR €l

S TAd gk 3T9d

(C) U= =EER Fgq@EE! AR &

3O IfeTafdes 3794

(D) YeT=i =R FqEmer=i AN &
IS M0 A AR A

[P.T.O.



Expansionary Monetary Policy ......
income level with ............... in

equilibrium rate of interest.
(A) increases, fall

(B) decreases, fall

(C) increases, increase

(D) decreases, increase

As per Output Method of measuring

National Income, value of output

produced by each firm equals ...... .

(A) Total Sales

(B) Total Wages

(C) Total Sales + Change in
Inventories

(D) Total Inventories + Total
Inputs

zi(Pi’t)X(Qi’O) .
zi(Pi,o)X(Qi,O)Xloo is the

formula of .....ccoevveveennnnnnn. .

(A) Paasche Price Index
(B) Laspeyre’s Price Index
(C) Consumer Price Index

(D) GDP Deflator

APR - 11224/I11—B

(A) ®=d, Bl
(B) I B4, U FHH Bl
(C) dmed, 9v el

(D) =H B, Sredl
T ST HISTUATAT SR THATTHT

e FIEIHEIA Icqifed Shoied]

(A) W fashigde
(B) THUI oAqIEdeh
(C) THY Tosh! + TEJHTSIIIA SIGeABdeh

(D) ThHU SGXGHE + TR SACTEAh

(D) ¥YE I IARA Hehrash




10.

11.

12.

A balanced combination of safe and
risky assets relates to ................ .
(A) Keynes Liquidity Preference
Theory

(B) Tobin’s Portfolio Approach to

Demand for Money

(C) Baumol’s Inventory Theoretic
Approach

(D) Friedman’s Asset Demand for
Money

If consumption function is given by

C =200 + 0.75 Y, then the value

of multiplier will be ...........

(A) 3

(B) 4

C) 5

D) 6

If all the elements in a set X are

in a set Y, but all the elements of

Y are not in X, then X is :
(A) Union set

(B) Power set

(C) Proper subset

(D) Empty set

10.

11.

12.
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[fera AT S = Ao wgierd

A & Geheu ]

TR,

(A) FH==r e ot fag

(B) ife=n Tem=an AR EeE
gftemm

(C) FrHeTT SgHe YgTi<Tah Ffteeh

(D) frew=n YeT=n ArmiEn Arers
gftem

YT e C = 200 + 0.75Y feorad

AT, U el §
(A) 3
(B) 4
(C) 5
D) 6

SR U9 X AHid 99 Wew W9 Y "
A, WY ¥4 Y © ¥4 s 9 X
e T, W ¥ X T AR ¢

(A) g |4

(B) dfer &4

(C) WM 4=

(D) T =

[P.T.O.



13.

14.

15.

If y is a function of x, find the
mathematical form from its inverse
function :

A) y = fix)

B) y = f @)

©) x = f L)

D) x = fy)

Suppose the function you want to
maximise is given as

1
m(q) = qu -909 +300. Obtain q

that maximises n(q).

(A) 90

(B) 390

(C) 300

D) 210

Suppose demand for the oranges is
1

given by the function ¢ =9 —EP.

Find the differential coefficient ¢'(p).

o L
()2

B) L+
(B) 3
(©) 4
D 9

13.

14.

15.
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SRy T x o o ST, T AT S

e e TORE &9 &iel

(A) vy = flx)
B) y = 1w
©) x = fly)
D) x = fy)

TRl HeTH ®% sfoed el ol

Wq)=5q° ~90q+300 fedd R
n(g) WETH STEA g Tl

(A) 90

(B) 390

(C) 300

(D) 210
TS 9T /TN q=9—%p Bl
FergR ool ome. fase™ Tk ¢'(p)

vive.
A ——

B) o

C) 4
D) 9




16.

17.

7 2 3
Suppose matrix A = |4 8 1
5 12 4

is multiplied by the identity matrix.
What you will get ?

7T 2 3
@ |+ 8 1
5 12 4
. ,
® (0 1 0
0 0 1]
[0 0 O]
© |2 90
0 0 0]
(7 4 5
(D) 2 8 12
3 1 4

Which one of the following is not the

test of adequacy of index number ?
(A) Time Reversal Test

(B) Factor Reversal Test

(C) Circular Test

(D) Bowley Test

16.

17.
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2
8 1=
12

FHST 9GROT A =

S NS

TR WO qUel. Rl

et ?

7 2
a |+ 8 1
5 12
S o
® |2 10
0 0 O]
© |2 90
0 0 0
7 4 5
D) 2 8 12
3 1 4

~

T TAYhT IOl e ehT=a JaTea=i

o AE ?

(A) T8 FhH =0l

(B) W2 &R @TEUh
(C) =fshar ==l

(D) TEe = TEo

[P.T.O.



18. Which of the following is true in case

19.

of geometric mean ?

@

@i1)

€219)

(A)
(B)
()

(D)

It is used to find the average
percent increase in sales,

production etc.

Used in construction of index

numbers

Most suitable when large
weights have to be given to
small item and small weights to

large items

Only (7) is true

Only (i) and (iii) are true
(), (i1) and (ii7) are false

(1), (@1) and (iii) are true

The empirical relationship between

mean, median and mode can be

expressed as follows :

(A)
(B)
(&)
(D)

Mode = 3 Median — 2 Mean
Mode = 2 Median — 3 Mean
Mode = 3 Median — 3 Mean
Mode = 6 Median — 5 Mean

APR - 11224/I11—B

18. YfHcite AIEAT= ST Seieieh! o

faam seR e ?

(@) 91 9 Tt Sc= sefe At

T fa9d o NevamEs! Bl

(i) TAdeTer IR SHITAEE SLe Sl

(i) Siegl Biedl wehien oIfasw oo
I HeaRTell HHl ARIH  SAE
AT dear fue SUFE STEal

(A) =de (i) T T

(B) =hefes (i) &AM (i) R

(C) (), (i) @i (iii) 9 SMea
(D) (), (i) S (i) SRR e

19. TR HTea, HEERm SN dgereh Anie

STIEST oY WETIATe e T
Idl

(A) 9geTh = 3 W — 2 WA

(B) 9 = 2 W — 3 WA

(C) 9gesh = 3 Heam — 3 HieA

(D) 9T = 6 HEXM — 5 HIEY

10



20.

21.

22.

If three dice are thrown once, then
there will be how many exhaustive

number of cases ?
(A) 18
(B) 108
(C) 216
D) 72

Which of the following is not a non-

parametric sampling ?

(A) Judgmental sampling
(B) Convenience sampling
(C) Stratified sampling
(D) Quota sampling

Which of the following is not used

to test the stationarity ?

(A) Dickey-Fuller Test

(B) Autocorrelation Function Test
(C) Engle-Granger Test

(D) Phillips-Perron Test

20.

21.

22.

APR - 11224/11—B

SR T T Therd Thehdl, T a9 fHeeom
gfegel aftory fRdt atedie 2

(A) 18
(B) 108
(C) 216

D) 72

WU RV TR T fee

Igdl A ?

(A) frofarers g fae

(B) W T fers

(C) wfen 7 frae

(D) =rer T Fae

feoa= = m=9vil SvEEl ETeteTde!

FHIUET A Al Sd A 2

(A) femi-|er =m=f

(B) & :HgHaY Thald =00

(C) TIA-U=R ==

(D) frfa-TA ==

11

[P.T.O.



23.

24.

25.

For which of the following the 2SLS
method is most appropriate method
of estimation ?

(A) Under Identified Equation
(B) Exactly Identified Equation
(C) Exactly Unidentified Equation
(D) Over Identified Equation
Which of the formula is used for

testing significance of the sample

correlation coefficient ?

(A) t= rff_—rf
(B) t= rf;frf
©) t= f_;j’

IfY is dependent and X, and X3 are
independent variables, then rqg 4

measures the following :
(A)
(B)
©)

Correlation between Y and X,
Correlation between X, and Xg

Partial Correlation between Y
and X3

Partial Correlation between Y

and X2

(D)

23.

24.

25.

APR - 11224/I11—B

B e deh! SIvEre! 2SLS TgHT Hatd
AT SIS UEHd IS ?

(A) 3Tc9 AT FHIR LT

(B) ddrad S1f9=ia TR

(C) Tagd SHYST TR

(D) srfastfora TR

THAT WEdSE IUHRTAT AT
TURIUATEIS!  TEerdsh! Shiorel T

N
g9 <hedll <Al 2

7‘\/;—2
t =
@) t=T—
7‘\/;-1-2
t =
B) t="
r\/;—3
t =
© t="—
r\/;+2
-
D) t="
SR Y ® WA & X, 7 Xg # w6
= I T g g © WA = HISH
FA

(A) Y afor X, Al HeHs
(B) X, &Mt X, Aefie wesey
(C) Y anfon Xg wefiel i wedsid
(D) Y a7ftr X, wefie Aifers wewed

12



26.

27.

According to Ronald Coase, why do

firms exist ?

(A) They exist to specialize in

production

(B) They exist to make division of

labour feasible

(C) They exist to diversity the

production

(D) They exist to economize on

transaction costs
Why is the production possibility
curve concave ?

(A) There is a difference in the cost

of production of the two goods

(B) There is a difference in the price

of the two goods

(C) There is a difference in the

income of the two consumers

(D) Resources are not completely
adaptable to alternative uses
because of the specificity of the

resources

26.

27.

APR - 11224/11—B
UATeS higl a7=A1 Hd, STNTEE 6T

T 9d ?

(A) = A TaRIsieho SHIvamddl

ST 3T

(B) &1 HHTAWST I SIS

ST 3T

(C) =N WA fafaftestor wyvamge

ST 3T

(D) ™ FF8R T fhAE @Il

ST T

IS YERI] 95h STaaehTeh Rl 3AHl 2

(A) TH TR 3URT EEiHE Tl

Tl

(B) T o= ThAdHed W oTal

(C) TN SYYFRIT= ST Bidh 319l

(D) FETEATE Afireaguias wETen
T amUHed quitn S[esqH

HTIERY 9

13

[P.T.O.



28.

29.

Why does the marginal rate of
substitution of one good for another
diminish ?

(1) Satiability for a particular good

(i1) Goods are imperfect substitutes

of each other

(Z17) The income of the consumer is

fixed

(fv) Diminishing marginal utility of
goods

(A) Only (ii7)

(B) Only (@), (i) and (ii7)

(C) Only (@), (i1) and Gv)

(D) Only (i), (izi) and (iv)

In case of Giffen goods, the negative

income effect is

substitution effect.
(A) equal to

(B) greater than
(C) lower than

(D) the same as

28.

29.

APR - 11224/I11—B

TehT o Qa1 aE SFHeTen HiEw
Tl X el 7

G) faferse aeg=t e

(i) S WEEE Y T W
(i) U Soo fReR etHa
(jv) TG Tl G U

(A) ™4 (iiD)

(B) ®eRI (i), (i) ST (i)

(C) we (i), (i7) M0 (iv)

(D) ®H (i7), (i2i) AT (Gv)

fTh S&q=a aTeldid, SR0T Sca— iomH

(A) < 9AMH
(B) &l S
(C) Ul wHl

(D) IRETd

14
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30. Ifone person can be made better off | 30- X SIURITE SR AT He 7 i
without making any other person THT A=A FHEM aT€ Feadl Id
worse off, it is called ............... ) A, W EE 3 WA
(A) Maximum social welfare (A) TETH HHEISR hHodT
(B) Pareto efficiency (B) T3 Wi/l e
(C) Pareto improvement

, (C) W2 guRom
(D) Interpersonal comparison of
utility (D) U= SR e
31. What is meant by economic cost? | 31. o e WS wmE ?
(A) Opportunity cost of the self- (A) T S Sk HeE
owned factors . .
_ _ (B) wwfea siven sishfad w= +
(B) Accounting cost + Opportunity TEHICTeR <A1 3G Sehial HeTed
cost of the self-owned factors -
C) 3TE=8
(C) Explicit cost ©)
(D) Minimization of cost ©) fHm ==

32. Which of the following statements | 32. Wiy i faem Flcer-fer
is/are true about the Kaldor-Hicks fehteged B AR ?

] i ? o o~ o]
criterion () e @ frehs TUvE FeTearen
(z) Hicks has given his criterion SfteieT fen o

from the losers’ point of view Lo _ _
3 . i o (ii) leerA 3Maen &y et
(z1) Kaldor has given his criterion N B S

[ScehlHldA Il

from the gainers’ point of view 3 o
(A) Only (@) is true (A) Foe (i) T 38
(B) Only (ii) is true (B) ®da (ii) @ %
(C) Both (i) and (ii) are true ©) () @ () S B e
D) Neither (@ 1) is t .
(D) Neither () nor (i7) is true D 6 F (i) SR W T

15 [P.T.O.



33.

34.

Assume that there are two firms in
the industry. Firm I have to choose
among five strategies and Firm II
can react by adopting any one of six
open strategies. Similarly, both
firms have counter strategies. Thus,
find how many total payoffs will be
available for both the firms.

(A) 6

(B) 11

(C) 22

(D) 30

In what situation, profit maximises :

(A) When the difference between
total revenue and total cost is

highest

(B) When the difference between
total revenue and total cost is

lowest

(&)

When total revenue is less than

total cost

(D)

When total revenue and total

cost curve both are the same

33.

34.

APR - 11224/I11—B

HHST SEANIG G UGdT 3Aed. dfee
fadien o WY e S o
afor g e Wl Wedr oI den]
FHIVIIE! Teh Tlehre Hidishal S e,

LI

= AN, slgl

TSR 1! Yedias! Wehy fohaft oo

~

3T BlEd 2 o T

n

Teiehe Hfd Tom

Tt 37Ted.

(A) 6
B) 11
(C) 22

(D) 30

IOl R % Afeehdy sl ?

(A) SIegl THU YTET A0 WU
TEMYe Tk WAy STl

(B) W81 UHRIT UIwl ATfor T
T Wi Taid hHT Tl

(C) STo81 W1 UTil TehUT feReiuet shHt
ST

(D) STegT TR YT S0 U1 e ash

NN

Il

SHIA Sl
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35.

36.

Which of the following is shown by
the Grand Utility Possibility
Frontier ?

Select the correct answer from the
codes given below :

(z) The distribution of welfare

between individuals

(z1)) The Pareto-efficient outputs of
two products

(zii) Pareto-efficient allocation of
factors into two products

(tv) The Pareto-efficient outputs of

more than two products

(A) (@), (iii) and (iv)

(B)

(C)

(1) and (ii) only
(i1) and (ziz) only

(D) @), (1) and (i)

What is the reason to used

stockpilling policy by entrepreneur ?

(A) To decrease the cost of
production

(B) To increase the cost of
production

(C) To increase the consumer
surplus

(D) To increase the taxation

35.

36.

APR - 11224/11—B

ETeeTieh! hIvd U IUAINTAT SRl
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38.

39.

.............. refers to the action taken by
central bank of the country to cancel
the impact of its foreign exchange
market intervention on money
supply.

(A) Sterilization

(B) Capital outflow

(C) Acceleration

(D) Multiplier

The basket of goods included in the
GDP deflator includes

(A) Only Domestically Produced
Goods

(B) Domestic Goods as well as
imported goods

(C) Only capital goods

(D) Only Consumer Goods

For narrow measure of money, which

of the following options is

incorrect ?

(A) Note in circulation

(B) Deposits of institution such as
UTI, IDBI, IFCI

(C) Cash reserves on hands with all
banks

(D) Deposits held by a bank in other

banks

38.

39.
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40.

41.

42.

What distinguishes a bank from a

non-bank financial institution ?

(A) Accepting time deposits as a
courtesy

(B) Accepting demand deposits

(C) Lending

(D) Accepting loans and borrowings

are financial

intermediaries that pool the
resources of many small investors by
selling them shares and using the
proceeds to buy securities.

(A) Derivatives

(B) Insurance

(C) Mutual funds

(D) Provident funds

Which of the statements gives an
accurate picture of the effect of the
increase in the repo rate ?

(A)

The money supply in the

country will decrease
(B)

The money supply in the

country will increase
C) in the

country will increase initially

The money supply

and then decrease
D)

There is no effect on the money

supply in the country

40.

41.

42.
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(C) TNl e JLaal Feardiel sea

ST A A BEd

(D) IS Fe YRASITeR  hIvITe]

RO Bl R

[P.T.O.



43.

44.

45.

Capital market deals in lending and

borrowing of .................
(A) Short term credit
(B) Medium term credit
(C) Long term credit

(D) Both medium term credit and
long-term credit

Which of the following services, is
not provided by the capital market ?
(A) Provision of Underwriting
facilities

(B)
©)

Participation in equity market
Expert advice on management

of investment in industrial

securities

(D)

Capital tax calculation and

consultancy based on that

First step in the field of mutual fund
industry happened with the setup of

by Government of India

and the Reserve Bank.
(A) LIC
(B) GIC
(C) UTI
(D) IDBI

43.

44.

45.
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46.

47.

Which of the following is not
included in the supply of money

measure ?

(A) Inter-bank deposits

(B) Demand deposits with financial

institutions on a net basis

(C) Currency and coins are
available to the general

population

(D) Deposits with the Reserve Bank
of India (RBI) in addition to the

above

Covered interest parity theorem

into account.

Spot and forward rates plus

interest rates in two countries

(B) Spot and forward rates plus call

money rate

(&)

Forward rate and call money

rate

(D) Spot rate and interest rates in

two countries

46.
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48.

49.

(1) India adopted LERMS in 1992.
(1) In 1993, dual exchange rate
system was replaced by a

unified floating exchange rate

in India.
Identify the correct statements :

(A)

Statement (7) is correct, (i7) is

incorrect

(B) Statement (i) is incorrect, (i7) is

correct

(C) Statements (i) and (i7) both are

correct
(D) Statements (i) and (i7) both are

incorrect

Devaluation of the domestic
currency will help to eliminate the

trade deficit, if goods are

nature.
(A) Less elastic

(B) More elastic

(C) Completely inelastic

(D) Less inelastic

48.

49.
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(@) 1992 #¢¥ YRad LERMS =1
JAIAd hedl.
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o~ o~
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50.

51.

52.

British Bankers Association comes
up with the benchmark rates for all
different securities of different
maturities. It is commonly known

AS eeeeeeeeeeeeeeaeeees .
(A) Mumbai Interbank offered rate
(B) London Interbank offered rate

(C) Securities Exchange offered

rate
(D) Covered Interest offered rate

Which of the following is not
included in the current account of

the Balance of Payment ?

(A) Insurance Payment

(B) Govt. not elsewhere considered
(C) Transfers

(D) Bank’s overseas deposits

Different prices of any homogenous
commodity in two different markets,

leads to ..................
(A) Speculation
(B) Hedging

(C) Arbitrage

(D) Dumping

50.

51.

52.
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53.

54.

@

(i1)

(A)
(B)
()
(D)

Offer curve incorporates
elements of both demand and
supply.

The offer curve of a nation can
be derived from the nation’s
production frontier, its
indifference map and various
hypothetical relative commodity
prices at which trade could take
place.

Both the statements are true
() is true (i7) is false

() is false and (ii) is true

Both the statements are false

Match the following :

(a)
)
(c)
(d)
@
@i1)
(i)
@)

(A)
(B)
(&)
(D)

Inter-industry trade
Intra-industry trade

Product life cycle

Factor price equalization
Vernon

Samuelson

Acquired comparative advantage
Different factor endowment
(@ ®) @ @

(v) Qi) @) @)

@ @) Guv) @GD)

@) @ @ @)

@) @) @ @G

53.

54.

@

(i1)
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TEE ST SATHL 95 (T Shelell
o) <YMAT JeUeT HIHl, M=

QTHEAAT AT oArfur fafaw
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o S ~ N
[Hooq cdlelR edHRR 'le Rlendl.

(A) Srg faum sleR 3mRd

(B)
(&)
(D)

(@)
)
(c)
d)
@)

@i1)

(i) SR (i) IH T8
(i) = S0 (i) e 3TE
TR faum g sTRd

e &

HATA-J&d =R
SN SATIR

S AN IERCED

ook TohAd FHMTRLO
Cabl

T

(i) THesaTe qEHHS hIERT
Gv) T9=1 w2 Ul

(A)
(B)
()

(D)

(@ B) © @
@) @) @ @)
@ @) @) @)
@) @ @ Gv)
@ G@v) @ @)
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55.

56.

57.

International Economic Theory

examines :

(A) The reasons for and the effects
of trade policy and trade

restrictions
(B) The basis for and the gains from

trade
©)
(D)

Only (B)
Both (A) and (B)

In Autarky, a nation’s production

possibility frontier is also its :
(A) Opportunity cost

(B) Exchange option/frontier
(C) Consumption frontier

(D) Revenue frontier

Converting your local financial
assets into foreign financial assets
and vice-versa at the market

determined exchange rate is .........

(A) Reserve Account

(B) American Depository Receipts
(ADRs)

(C) Capital Account Convertibility

(D) Current Account Convertibility

55.

56.

57.

APR - 11224/T1—B
AT o fagia & audi—

(A) =R €Ror enfor =R A=
I e g

(B) U= SR 37T %
(C) w (B)
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58. Which of the following are the

59.

limitations of head count index of

measurement of poverty ?

(@) It doesn’t take into account the

intensity of poverty

(i1) It doesn’t indicate how poor the

poor are

(zi1) It doesn’t estimate poverty by
individuals but by households

(A)
(B)
()
(D)

Only ()

Both (i7) and (ii7)

Only (Gv)

(@), (1) and (iii)

If the production function exhibits
decreasing returns to scale in the

steady state, an increase in the rate

of population would lead to :

(A) Growth in total output and

growth in output per worker

(B) Growth in total output but no

growth in output per worker

(C) Growth in total output but a

decrease in output per worker
(D) No growth in total output or in

output per worker

APR - 11224/I11—B

58. TEr@d®l ®ivrdt fawuma fyrrordt

59.
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@) o TR SR e geiet T8l

o~ ) La b Y
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(A) e (7)
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(C) ®H (iv)
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60.

61.

Which of the following options is
correct when we only accomplish two
out of three pillars of sustainable

development ?

(A) Economic + Environmental
Sustainability = Viable

(B) Social + Environmental
Sustainability = Bearable

(C) Social + Economic
Sustainability = Equitable

(D) Political + Economic

Sustainability = Workable

Which of the following theories are
associated with the dependency

theory ?

() Development of under-

development
(z1)) World-systems theory
(i211) Critical minimum effort
(tv) Theory of unequal exchange
(A) Only (i) and (ii7)
(B) Only (@), (i) and (ii7)
(C) Only (@), (G1) and (v)
(D) Only (), (iit) and (iv)

60.

61.
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e g INad O] &l
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62. The output elasticity of labour is :

63.

(A) equal to one at the level of
output where average product

is at a maximum

(B) the percentage change in labour
required to produce one more

unit of output

(C) equal to the ratio of total
product to the quantity of

labour employed

(D) a measure of the percentage
change in output that can result
when the quantity of labour is
changing

If the investment rate of an economy
is 24%, capital-output ratio is 4 and
the growth rate of population is 1.5%,
what would be the growth rate of

per capita income ?
(A) 4.5%
(B) 5.5%
(C) 6.5%

D) 3.5%

62.

63.
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SN IUET araehdl

(A) UL IUET HEWH STEdHl UHh

TIE Ed
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64.

65.

According to Adam Smith, there is

a mutual dependence between

(A) division of labour and the

extent/size of the market

(B)

invisible hand and business

cycles

(&)

capital accumulation and

general price level

(D)

division of labour and industrial

integration
What is Palma ratio ?

(A) Share of richest 1% population
in GNI/Share of poorest 99%

population in GNI

(B) Share of richest 10% population
in GNI/Share of poorest 10%

population in GNI

(C) Share of richest 1% population
in GNI/Share of poorest 10%

population in GNI

(D) Share of richest 10% population
in GNI/Share of poorest 40%

population in GNI

64.

65.
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66.

67.

In case of Schumpeter’s model of
economic growth, which of the

following statements is true ?

(A) The

ultimately reaches stationary

capitalist economy

state

(B) The profit rate tends to become
equal to zero at the end of the

development process

(C) Cyclical swings are the cost of
economic development under
capitalism

(D) The process

development is not a cyclical

of economic

process but is a structural

process

According to Harrod, a technical

change is neutral if ................ .

(A) MPy/MPy, = capital-labour
ratio
(B) at a constant rate of profit,

capital-output ratio also

remains constant
©)
D)

it is labour or capital saving

MPy/MP; = wage rate-interest

rate ratio

66.

67.
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68.

Which of the following banks were
merged with Bank of Baroda in
20197

(2) Union Bank of India
(i1) Dena Bank

(2i1) Indian Bank

(iv) Vijaya Bank

(A) (@) and (1)

(B) (7)) and (ii7)

(C) (@) and (iv)

(D) (@) and (it)

68.
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2019 HE WIACTUh] IV ShTd sk
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70.

71.

Which Article in the Constitution of
India deals with the Annual

Financial Statement ?
(A) Article 111
(B) Article 112
(C) Article 113
(D) Article 114

Which of the following are the main
objectives of Agriculture Census in
India ?

(@) To describe the structure and
characteristics of agriculture
sector

(i1)) To provide benchmark data

upto village level

(zit) To provide statistical frame of

operational holding
(A) (@) and (ii) only
(B) (i) and (iii) only
(C) (i) and (iii) only

D) @), (i) and (ii7)

APR - 11224/I11—B

70. YRAE TSEEdiel hIUd Hetd e

e foaeomelt Tt oM ?
(A) wem 111
(B) =M 112
(C) o™ 113
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72.

73.

What is the main objective of
Ayushman Bharat-Pradhan Mantri

Jan Arogya Yojana ?

(A) To provide financial protection
to poor and vulnerable families

for their health expenditure

(B) To promote the growth of the

healthcare industry

(C) To provide subsidies to private

hospitals

(D) To create a separate healthcare

system for the poor
India’s first ‘National Investment
and Manufacturing Zone’ is situated
in :
(A) Andhra Pradesh
(B) Gujarat
(C) Maharashtra

(D) Uttar Pradesh

APR - 11224/11—B
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74.

75.

76.

Square root rule is ................. .

\/?

@A) C=

(D) C= /%_Y
r

e-NAM scheme was started in which

of the following year ?
(A) 2014
(B) 2015
(C) 2016
(D) 2017

India’s Economic Freedom Index

score in the year 2023 was .......
(A) 61.2

(B) 52.9

(C) 51

(D) 53.3

75.

76.
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................... 7 Tw frem e
2bY
C= "
(A) Jr
20Y
C="-
(B) Jr
©) C= %

o c- 2%
r

e-NAM ST Seliciiehl hIoTeal s
ge =l ?

(A) 2014

(B) 2015
(C) 2016
(D) 2017

g6 2023 HEH ORGSR @

..............

(A) 61.2
(B) 52.9
(C) 51

(D) 53.3
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77. Which of the following statements

78.

is false ?

(A)

(B)

(C)

(D)

MGNREGS is implemented

through an Act

MGNREGS provides some

reservation to women

The wage rate of Rs. 100 per

day is provided through

MGNREGS

MGNREGS does not provide

wage employment where
unskilled manual work is

involved

Which of the following is the correct

formula to calculate National Multi-

Dimensional Poverty Index in

India ?

(A) MPI = H*I
(B) MPI = H*A
(C) MPI = H*P
(D) MPI = P*A

APR - 11224/11—B

77. WATAUHI HIC AT GqE AR ?

78.

(A)

(B)

(&)

(D)

MGNREG ZSAT & HTIUER

BECIGISIN

L

MGNREG 351 & Afectide sl

o N
SIHIT <l oqd

MGNREG #iw=gR gdt feawm

T. 100 99 <X foem <l

MGNREG FISA1 3R I

~ .

EREEEUSRIES

3 oY a
S HB A=Al en[HIAIS]

T AT

@etietieh! ShivNT SgeTTETH SRee e
Ao a0 g5 el 7

(A)

(B)

(&)

(D)

MPI = H*I
MPI = H*A
MPI = H*P
MPI = P*A
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79.

80.

India’s market capitalisation in the

year 2023 was

(A) Half the GDP of India
(B) 10th largest in the world
(C) Nearby GDP of India

(D) 1/4th of the GDP of India

Which of the following statements

is true ?

(A) India had the largest road
network in the world in the year

2022

(B) India had the second largest
road network in the world in the

year 2022

(C) India had the largest railway

network in the world in the year

2022

(D) India had the second largest
railway network in the world in

the year 2022

79.

80.

APR - 11224/11—B
T8 2023 T Y™ 9N 9iedd

....................

(B) SI@l 109 9aid His

(C) YRAT=Al @ QRTd  ScdIeAT=Al
SEC

(D) ARG ¥ S ST Teh
ELRIN

WeeTteh! ShId o sliek 318 ?

(A) o9 2022 T& YR T Ses

S g4 HiS Bl

(B) 9% 2022 HEd YRamHed T ST

ST §ER 94t Hio B

-

(C) 9% 2022 T YRAME oo™ s

ST gaid A\ B

N

(D) 99 2022 HA YRAME oo ST

ST §ER 9 Hie B
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81. As per Pollution Haven Hypothesis, " < N
81. USHUl B UREheu T [HN g™ U=l
Multinational Companies that
. . . T STHCICHT SRMHE Jeael TRaeh
choose to physically invest in foreign
countries, tend to (re)locate to the tiquLch FOIET TEE Hasda.
countries with .................... .
(A) (U= oTfash Suerse
(A) Greater availability of the
labour (B) waid hH! TAERE Aeh fohal Faiq
(B) The lowest environmental . o
Hndd ARV
standards or weakest enforcement
(C) The highest environmental © Hirsh Tl el
standards or the most strict FIN AHASSII
enforcement
(D) AU HHT ST
(D) Lower availability of the labour
82. Environmental Economics involves | 82. 9afaeoia s1efymesmq Bl
ti 1 S -
question o T
(A) Excessive production of
pollution by the market (A) TRIgN HEOwTT ST Seae
(B) Insufficient protection of (B) SSIRTATA aqwrﬂéﬂgﬁ?ﬁ S
natural world, due to market eﬂi Tam
failure
(C) Both of the above (©) =l <=
(D) Only (A) is true (D) TR (A) Hed 38
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84.

method puts direct

question to individuals to determine
how much they might willing to pay

for environmental resources.

(A) Contingent valuation method

(B) Travel cost method

(C) Hedonic pricing method

(D) Preventive expenditure

method

How does the government intervene
in the supply and demand of demerit

goods ?

(A) By giving tax rebate

(B) By applying the sales tax on the

goods

(C) By increasing production

(D) By increasing consumption

APR - 11224/I11—B

Tgd el 92 99 fa=ma

I o TR FEEAES! ot T 2uary

Togh e

(A) STRfETR e
(B) worg @

(C) eI Thma

(D) wfqeercs T«

84. TN AT ATV ST [Locame] TR

FIMIFR LT Fd 2

(A) F HoIeTd <A

(B) e T HATHTE

(C) I_A aTegd

(D) 34 ST
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85. As part of National Climate Change | 85. I¥ oMM sgel ROl M /U,
Policy, Indian government is ONE TR 2030 THT st Sl
planning to raise the installed Rra aqEay i ST
capacity of renewable energy by the

p y gy by N e

year 2030 to :

(A) 175 GW
(A) 175 GW

(B) 200 GW
(B) 200 GW
(C) 250 GW ) 250 GW
(D) 350 GW (D) 350 GW

86. Significant factor pointing for | 86. SR fefgseswE Ffaa HTomy
demographic dividend is ................ HEqUl HEe 7 9R.
(A) Low dependency ratio (A) FH SR TE
(B) High dependency ratio o

(B) =3 ITdcilelcd FHIU
(C) Medium dependency ratio
(C) H&AH STacifeled YA
(D) High and medium dependency
(D) I=a M HeaH TEaiad O
ratio
39 [P.T.O.



87.

88.

Consider the following specific
stages of demographic transition

associated with economic
development (2012) :

(1) Low birth rate with low death

rate

(2) High birth rate with high death

rate

(3) High birth rate with low death

rate

Select the correct order of the above

stages using the codes given below :
A) (1), (2), 3)
(B) (2), (1), (3)
(©) (), (3), (1)
D) (3), (2), (1)

Which of the following is not the
mission under NAPCC ?

(A) National Solar Mission

(B) National Mission for Enhanced

Energy Efficiency
(C) National Mission on Air

(D) National Water Mission

87.

88.

APR - 11224/11—B
anfares faswmamet (2012) Hafua
ARG TehHUT= @efie fafimse
ToEl faem &4 e

(1) =HI e S0 il Jog T

(2) =9 g TEE I=d THN

(3) wHHI Hcg SUEE S=0 SHL

@l feoem sies] IR e Ol

Tl AR A HEel
A) (D), (2), 3)
B) (2), (1), 3)
(€ (2), (3), (1)

D) 3), (2), (D)

ETeATeTdeh! =h1oTd 3179EE NAPCC 3aiid
Iq AR ?

(A) TR ER e

(B) aftra ol wTHemaEst U2
CIRRIE|

(C) U g A=

(D) T S AT
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89.

............. state sex ratio was

Only in

favourable in 2011, there were 1084

89.

APR - 11224/11—B

2011 #& e

O STIeRe B, Ui 1000 JESTHR

females per 1000 males. 1084 HfgaT Bl
(A) Bihar (A) f=r
(B) Punjab (B) US&
(C) Haryana (C) =sR=m™n
(D) Kerala D)
90. Harris Todaro model describes the | o4 e Y i e [
interrelationship between .............. . EREE T HE.
(A) Growth and migration (A) F& s ToTETTEY
(B) Unemployment and inflation By T S e
(C) Growth and unemployment (©) TH sfT A
(D) Unemployment and migration (D) ST s T
41 [P.T.O.



91. Match the following :

(1
2)
3)
(4)

@

(i1)

€219)

(tv)

(A)

(B)

(&)

(D)

Types of Goods
Public Goods
Club Goods
Common Resources
Private Goods
Attributes

Excludability and Rival

Consumption

Excludability and Non-Rival

Consumption

Non-Excludability and Non-

Rival Consumption

Non-Excludability and Rival

Consumption

o @ 6@ @
@ @) @ (@)
@ @) @) @)

@) @) @ @
@) @ @ @)

APR - 11224/I11—B

91. e ool :

TEAT YRR
(1) S o5
(2) F9 TH
(3) wHfes HHIEH
(4) TS 9%
TuTerd

() aforar suftr wfaeae susdm
(i) afSraan anfon wfaegeifaxfea s
(iii) srafswaar anfon wfaeTaiforfea sasim
Gv) sraferdar anfor wfaemef g

o @ @ @
A) @) @) @ (Go)
B) @ @) G @)
C) @) @) Gv) @)

D) @) @ @ @)
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92. Match the following :

Principles
(1) Equal Absolute Sacrifice
(2) Equal Proportional Sacrifice
(3) Equal Marginal Sacrifice

Formulas

dU(Y-T)
d(Y-T)

@) UY) — UY — T) same for all

I same for all

U -U-17m
(i11) same for all

Uy)

1 @2 @

A) @) @ O

B) @) @

(12)

©) @) @ @)

D) @ @) @

APR - 11224/11—B

92. Sredl ool :

e

(1) 9aF s
(2) FHM WHURMR
(3) THHHEE N

o

dU(Y-T) .
J(Y ) Toe W

i

@) UXY) — U(Y — T) gaige 99H

UY)-UXY -T) s
(iii) 6% FaraEer gHE
1 @ 3

A) @) G @)
B) @ O )

©) @) @O @

D) @ Gui) @
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93. According to recommendation of the

15th Finance Commission, various

criteria and their weightages are

suggested for horizontal devolution

amongst states. Match the following

criteria and weightages according

to it :
Criteria
(1) Population and Area (each)
(2) Forest and Ecology
(3) Income distance
(4) Tax and fiscal efforts
(5) Demographic performance
Weightages
@) 45%
@) 2.5%
@) 12.5%
(v) 15%
) 10%

o @2 @ @ 5)
A @ @O G W) (i11)
B) (v) @@ @O @) (ii0)
C) @) @ @ G )
D) @ @O @) Gv) G

APR - 11224/11—B
93. TeRren fax ARENTEN FTRREHTER,

T A/ 3eed  BETalurEe!

fafay fere @ T oo aerd
- or T : .

Al Siredl Sl

iG]
(1) orereer e quRer (W)
(2) =4 AT gFieRm

(3) JUH K

(4) T MO TSHREE GIA

B |

(5) THEEATTES S

SIHED
@) 45%
@) 2.5%
@) 12.5%
() 15%
(v) 10%

L @ & @ 6
A @ O G @ G
B @ @ O @ GG
© @ @ O G@ @

D @ O @ @ 6@
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94.

According to the budget estimates
of union budget 2023-24, the fiscal

deficit for the financial year

94.

APR - 11224/11—B

hard SAdHHET 2023-24 1 TTHAFHIA
FEEUR, fa<ia as 2023-24 =i

TSRS 2 TqE M Ieq=T=]

2023-24 is estimated to be ............. | e At 3R
of GDP.
(A) 6.9%
(A) 6.9%
(B) 6.5%
(B) 6.5%
(C) 55%
(C) 55%
D) 5.9%
D) 5.9%
95. According to Wiseman-Peacock | 99 et - Taehieh FHATIER fereard aftom
hypothesis, what is Displacement =T w2
Effect ?
(A) The movement of public (A) STIIGH FHEhET SRH D!
expenditure from unproductive AR TS =g
to productive level
(B) Change in the source of public (B) WIS SeI=T=al HIqHES 2o
revenue el
(C) Change in the structure of
public debt (C) dresieh weli=a @Hd oed
(D) The movement of public &
(D) S oHdH Tideias T 3T
expenditure from old lower level
to new higher level qTdesiehs rasI-eh Weid BV 1@
45 [P.T.O.



96.

97.

98.

Integration of discretion and
automation into a hybrid form of

fiscal policy is called :
(A) Built in flexibility
(B) Formula flexibility
(C) Expansionary policy
(D) Contractionary policy

The zero base budgeting was first

adopted in :
(A) India
(B) Germany
(C) USA

(D) France

Which of the following is likely to
be the most inflationary in its

effects ?
(A) Repayment of public debt
(B) Repayment of internal debt

(C) Printing new currency to

finance the deficit

(D) Borrowing from the banks

96.

97.

98.

APR - 11224/I11—B

oy foxig grome Sevia fagsmfuftsa
farde ot amfor et foxia gfsman

(A) Iaffed e

(B) EAHR e elehdl

(C) Tomrcas foi™ |Ro
(D) HeHfaa €

IENEIRG  SAfHEHeur=  AHATSA

FAYYH IO UG shedl Tedl ?
(A) Wd
(B) AT
(C) e

(D) w4

W] HITAT HHhT  qAIdT

TEMSd SAfeeh HOme. B 2

(A) TENIHE® e Wahe

(B) 3Ida woidl Tdhe

(C) Torxiid g2 9% hIRuArErd! Td e
BIqul

(D) dhTHST FHt B0
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oo

99. The idea of ‘democratic | 99 ‘wiEIE!f

[aY

Teh ETLM TR TRAT

decentralization’ in India was Heulq o Y=RE 20Tt ?
popularized by :
(A) WEI. TiRaTen g9, 1951

(A) A.D. Gorwala Committee, 1951

(B) .87 Hgal "k, 1957
(B) B.R. Mehta Committee, 1957

(C) ofelier Heal wffel, 1978
(C) Ashok Mehta Committee, 1978

(D) Kelkar Committee, 2004 (D) hosh? WA, 2004

100. Which of the following taxes is most | 100. JEIcTuehl RVl T 71 AT wiqm

likely to be regressive ? e ?

(A) Tax on inherited property (A) IREEFRMH fHarered guiade 2
(B) Tax on income earned (B) R ST Scd—Tee &

(C) Corporate income tax (C) M\ =z

(D) Goods and Services Tax (GST) (D) =% & o
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ROUGH WORK
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